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du

—=AU+D 2.58
a - AYT (2-58)

T
| 9y, Oy: Oy Oy, Oy, Oy,

~| kg, oky, c,, oKy Ky, OCL (2.59)
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A=
0 0 O 0 0 |
0 O 1 O
0 0 0 O O
- (2.60)
a 0 0 a, O
0 a4 0 0 a
0O 0 a4 0 O a, |
D=[000d, d, d,]" (2.61)
of 1p *\ P/ Pl
g - 1 P :
! okyy K P, (yl) (yZ)
of 1 P *\ P/ Pl « « \1/ p,
d,=—2 Z_{kn_l()ﬁ) (Y2)+C13(Y1) _r} (2.62)
ok, Kyp P,
of 1/ «\up,
I N Y
0Cy3 Ky
(2.59) U (knv Kz, C13) ( Y1 yz)
(2.58)
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a.

U kil = (Dlu Kkt F1Dk

_¢11 0 0 ¢, 0 O ]
0 ¢, 0 0 ¢, 0
0 0 ¢, 0 0 ¢y
¢y 0 0 ¢, O O
0 ¢, 0 0 ¢, O
_O 0 ¢4 0 0 gy |
_7 nu0 0 yp, O 0
0O 740 0 1y, O
0 0 1 O 0 7w
72 0 0 'y, 0 O
O 72 0 0 yp» O
_0 0 72 0 0 yyp
(2.39)
(2.60)
P11 P Yiu 722
(2.63)
(2.46)
_ i 1Up,-1 Y1
= 1 P
P2 oKy
- i 1/ pp-1 %
= 1
P, oKy,
_ i 1p,-1 Oy
P ! OCy3
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